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General Instructions :

1.

354

(1) Please read the instructions carefully.

(1t1) This question paper consists of 21 questions in two sections : Section — A
& Section — B.

(it1) Section — A has Objective Type Questions whereas Section — B contains
Subjective Type Questions.

(iv) Out of the given (5§ + 16 =) 21 questions, a candidate has to answer
(5 + 10 =) 15 questions in the allotted (maximum) time of 2 hours.

(v) All questions of a particular section must be attempted in the correct
order.

(vi) Section — A : Objective Type Questions (24 Marks)

(1) This Section has 05 questions.

(2) There is no negative marking.

(3) Do as per the instructions given.

(4) Marks allotted are mentioned against each question/part.
(vii) Section — B : Subjective Type Questions (26 Marks)

(1) This Section has 16 questions.

(2) A candidate has to do 10 questions.

(3) Do as per the instructions given.

(4) Marks allotted are mentioned against each question/part.

SECTION - A
(Objective Type Questions)

Answer any 4 out of the given 6 questions on Employability Skills: 4x1=4
(1) In SMART Goals for an Entrepreneur the alphabet ‘A’ stands for

. 1
(A) Artistic (B) Attainable
(C) Available (D) Attractive
(11) Which shortcut is used to print the text or document ? 1
A) Ctrl+7Z B) Ctrl+P
(C) Ctrl+F (D) Ctrl+X
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S
(iii) Teh O TR foret Tore Rt fiie / arr o o foTu ST <hl ST et S ST M 8 & 7 1
(A) &fes, S (Ffeed, aféea) (B) ufgea (v @), Uide

(C) hidl o9, ThieT TS (D) B, 3R

(iv) ATIH TetEe IR Foar i v 2 fo & 31eh! wHe 7@ O
TR JhEH T hl HINW FL R E | 1
A) =mEEY B) @I fagri & faeg
(C) Iy D)

(v) Tr=feafea @@ o o =i I % @a T8 & 2 1
A) @i (B) J&h
(C) ThNIHS fe=l (D) 3TehelTA

(vi) Teh3 Teh HUST hEH H TS T 3T L & 8, I8 HIEHT SHhT IR IHh Teh
sz lag__ 7 1
(A) =S (B) A SR
(C) gt (D) wrgh Tt safaa

feu e 6 g 6 | 5 Yl W IW AT : 5x1=5

o A1 ! T B 1 9 SHATSH 13 L) 2, IHehT 3T galTs TThAT i
ST ST &7 | HEleeh 5 2R ¥ Sieet g 4 71 FHfhe o 3R 9 gaTs =X de uga
ST IR 1 S5A STEH S T 1 foha | A 95d doft & IUTA U1 & S R e §
TS HeeATS T TE B |

(i) T T THAT BT BRI FATE ? 1
(A) T Hi gl (B) fefie gt
(C) S YEH HH WA Hhiga (D) 3= fouve

(i) wfesmgaRifmufrnsi _ sm@Ewng) 1
(A) T&eft (B) &l
(C) e (D) 3ifew
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(111) Which are the two layout used to .get the printed text on a paper ? 1
(A) Horizontal, Vertical (B) Landscape, Portrait
(C) Scroll Left, Scroll Right (D) Image, Shapes

@1v) is feeling extremely nervous and worried because you
believe that people do not like you or are trying to harm you. 1
(A) Paranoid (B) Antisocial
(C) Narcissistic (D) Dependent

(v)  Which of the following are not source of motivation & inspiration ? 1
(A) Music (B) Book
(C) Positive thoughts (D) Loneliness

(vi) Rakesh manufactures shirts in a garment factory owned by him and
his friend. He is a/an . 1
(A) Labour (B) Unskilled worker
(C) Entrepreneur (D) Wage employed person

Answer any 5 out of the given 6 questions : 5x1=5

An online pharmacy called MEDITECH had a mission to make
medication process easier. MEDITECH worked to build a prescription
home delivery system that takes the pain out of the whole process. Now
MEDITECH is the fastest growing company which serves the customer
nation-wide.

(1) What can be the reason for MEDITECH’s success ? 1
(A) Self centric approach.
(B) Flexible approach.
(C) Focus on providing better service.

(D) Good marketing.

(11) Test is the phase of design thinking process. 1
(A) first (B) second
(C) third (D) last
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(A) EHET B) @i
(C) wmfufa (D) shHEEAT
(iv) SIH S <l qehrleh fohT IcaTEH T W & 2
(A) HIST B) s
(C) @l (D) 4rg
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(111) Understanding the need of those you are designing for — 1
(A) Empathy (B) Define
(C) Ideate (D) Test

(1v) Tools used in research of design thinking process for observing
people 1
(A) Survey (B) Shadowing
(C) Focus group (D) User Interview

(v) The three types of Card sorting are 1
(A) Open, Closed, Mixed (B) Open, Closed, Hybrid
(C) Open, Closed, Combined (D) Mixed, Combined, Hybrid

(vi) What happens in testing stage of design thinking ? 1

(A) You allow the consumer to test a product or service.
(B) You test products designed by competitors.
(C) You conduct a written test of your design team.

(D) You engage in internal testing with employees.

3. Answer any 5 out of the given 6 questions : 5x1=5
(1) Itis a social research technique based on studying people’s behaviour
in every day context : 1
(A) Shadowing (B) Ethnography research
(C) Survey (D) Personas
(11) Oldest wood based industry : 1
(A) Pulp and Paper industry (B) Match stick industry

(C) Timber and Sawing industry (D) Plywood industry

(111) Gestalt theory which is referred as grouping which are similar but

they don’t need to be same in size : 1
(A) Similarity (B) Proximity
(C) Symmetry (D) Order

(iv) Vacuum forming is the method to manufacture one of the following : 1
(A) Fabric (B) Plastic
(C) Wood (D) Metal
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(v) Tewmu fo= o o o veee 1

(A) HAFAT B) gHiuar
(C) W& (D) HATSEAT
(vi) o= feu e eng fmfor wfshan 61 vg=m 1

(A) = (B) R

(C) Ufem (D) TFgEM
4. Teutu 6 ol 0 4 fopedl 5 T3 & ST I 5x1=5
(i) Tesmsa wfshan wecyet =i & ? 1

(A) 3T §ifs 389 o fou |

(B) S&M 31132YL % fo1T 3197 S 37 foami o6 31eh R 2 o fow |
(C) 3R 31fers T @F i & fo1u |

(D) 3Th! IS Hewd Tal |

(i) ArET 3R 3EITd I Y g aTedl TN T T HR0T & — 1
(A) 3T 3R gHTh (B) 3iEuA
(C) feresed (D) O S

(iii) YR = TTehel 32 Hfeh % T T 3Td & S foh I7eh Ty &l Johd™
qEeT € | 1
(A) ifereersia (B) wifersnifuefii
(C) BHcSIRES (D) ..
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V)

Identify the logo in this figure : 1
AAAAA
AAOGAA
AGOO A
0000

(A) Similarity (B) Proximity
(C) Symmetry (D) Order
(vi) Identify the metal forming process given in the figure : 1
(A) swathing (B) forging
(C) rolling (D) extrusion
Answer any 5 out of the given 6 questions : 5x1=5
(1) Why design process is important ? 1

(11)

(iif)

(A) for better brand image

(B) to shape and guide your work and thoughts to improve the
outcome.

(C) to consume more time

(D) 1its holds no significance

Most common cause of injury in the iron and steel industry — 1
(A) fire and explosion (B) blindness

(C) amputation (D) Laceration

Wood workers in India are exposed to which cause health
hazards. 1
(A) Polystyrene (B) Polypropylene

(C) Formaldehyde D) PVC
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(iv) ST 3NN & e qae 8 — 1
(A) efife B) fafén
(C) s (D) fofém

(v) COSHH 3mmdR T ST H YT I 8 | 1
(A) U B) g
(C) el (D) AT

(vi) BARIUCATEHHI W H G A= | 1
(A)  TEfeT v

(B) whatt 3R qis Taer
(C) AT o STTT-3TTT Thel o IsaTe

(D) gEft & ==E
5. Tewmu 6 el # & fenedi 5 el & s ifSe 5x1=5

() W.deTE. (PPI) 1 QU AW o | 1
A) oo i B) fEawsa
(C) Yo& W HIX (D) Yed W

(ii) afg 3MIRT Th Ig 3Td & forw S feoe v 2 o T veet 319 foha Tacy
feremr 8T ? 1
(A) A B) IATH
(C) (D) o 1 o

(iii) = @ 9 feraert Ty gY-FET AR ? 1
(A) sfgded (B) UHTHITHT
(C) WA (D) AwT T A

(iv) YRS THUTES =07 % U d18e W ITANThdis 8 Higds I i & o
39T fopd ST STt SN IHHT I F1E 2 1
(A) TS BlhE HE
(B) st gfem

(C) WM it T fogd ATATh R
(D) U7 37T &0
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(1v) Physical affinity between the dye.and the fiber : 1
(A) Weaving (B) Knitting
(C) Dyeing (D) Printing
(v) COSHH are usually carried in industry. 1
(A) Textile (B) Metal
(C) Wood (D) Plastic
(vi) Drying stage of furniture production comes after : 1
(A) Grinding stage
(B) Shearing and transport stage
(C) Execution of individual pieces of furniture
(D) Selection of materials
Answer any 5 out of the given 6 questions : 5x1=5
(1) Full form of PPI is — 1
(A) Picks Per Meter (B) Picks Per Inch
(C) Pulls Per Meter (D) Pulls Per Inch
(11) Ifyou have to design a shoe for an elderly female, what is first aspect
that should be considered ? 1
(A) Style (B) Comfort
(C) Colour (D) Sole wear
(111) Which of the following are related to handlooms ? 1
(A) Extrusion (B) Thermoforming
(C) Frame loom (D) Blast furnace
(1v) Quickest research tool to get a feedback from the users of the site for
the initial empathize stage : 1
(A) Ethnographic focus groups
(B) Data tracking
(C) Detailed Interviews over phone call
(D) Pop up survey
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) aﬁﬁmﬁﬁwaﬂtwﬁ%wwl 9= % IS % [T S HI

HIESH ol 3UFH B 2 1

(A) ATEAH B) kit

(C) uifereet (D) HIgShHI-HIZa
(vi) el IENT T JANT B4 ITelt I8 A Sl oTehel o &l ! Hae R Y & 1

HTH 3T & — 1

A) (B) wdfeed

(C) T3 (D) 35 3T

ug - 9§
(Frroies ThR & I9)

TSR HivTed Taeht feu 7Ta 5 997 d | fepegl 3 Y h13T 20-30 UG HENT: 3 x2=6
T et o foTu gt 3R Sfegan Jwrar & &9 § UH 91d & | 991 2 2
Tk TR il TSRO & Hid 414 91d 8, 8 ? T8 i | 2
Teh SR S99 bl TATSE § STt o foi Ir =107 ford | 2

T o U Teh T%el FLIE3TT HU-1 & | 35k AR 0l o1 9e8 wewyul & S foh
Iegaefietar FradT § § s WHT ST | 31 379 35eh (I A Hend & ? afie &f, disi 7 2

ot ot 3 fore - TR =t arevess § 2 2
feu e 6 et 1 @ forgi 4 W1 1 3T 20-30 Ieqi § SN : 4x2=8
TR BT IS < GUTTg IR Tt o 11 for@ 37 37 aR H e i | 2
TSI T WIeieTsd 1 T8 i | 2
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(v)  Which fibre is most suitable for children’s clothing due to its high
absorbency and comfort properties ?
(A) Nylon (B) Cotton
(C) Polyester (D) Micro-fiber

(vi) Wood working machinery that flattens and straightens the edge of
wood boards —

(A) Shapers (B) Jointers
(C) Routers (D) Table Saws
SECTION - B

(Subjective Type Questions)

Answer any 3 out of the given 5 questions on Employability Skills: 3 x 2=

Answer each question in 20-30 words :

Why Persistence and commitment considered as competencies for an
entrepreneur ?

How books & music are considered as source of motivation & inspiration ?

Write four steps to insert a text box in a slide.

Mahesh has a successful startup company. According to him, decision
making is considered to one of the most important entrepreneurial
competency. Do you agree with his opinion and why ?

Why Self-motivation is important for youth ?

Answer any 4 questions out of the given 6 questions in 20-30 words each :

4x 2=

Mention and describe any two well-known states of India involved in wood
work.

Define prototype in design.
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20.

21.
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o o1 e i e e e e 7 e 3 R 2 2
TeeTee o g (fekear) @ fagr shi =men Hifvu | 2
TATTEESh TR GRI 30— G FT-ehIeh THTE i fTg | 2
festrea fefehm o foehe T o 8 2 2
feu w5 woAi 5 9 ol 8 STl %1 ST 50-80 Weg| H T 3x4=12
FATS <h1 SfshaT Shi ST W | 4

Teh <0 TEsimed ITe 1 fEsisd Qur otd oy 319 S-S =it &1 319 & |

T 3ThT T TS SR =T | 4
Ja 8 fafi=t yehR & creht T o1 U i | 4
1 H fesred fomm (Rifer) o6 o ford | 4
(a) UefhehTlT forehT I & 2 4

(b) 38 foepR T 5= o o1 fopa wTal =1 &9 W@ =feT. 7 =mea i |
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14.

15.

16.

17.

18.

19.

20.

21.

354

How can we assess the risk control in metal industry and plastic industry ? 2

Explain Gestalt’s law of proximity. 2
Give two harmful effects of plastic industry. 2
What is wicked problem in design thinking ? 2
Answer any 3 out of the given 5 questions in 50-80 words each : 3x4=12
Explain the process of weaving. 4
List down and explain the factors to keep in mind while designing a good

product design. 4
Explain different type of wood working in Industry. 4
What are the benefits of Design thinking at work ? 4
(a) What is Musculoskeletal disorder ? 4

(b) Explain the precautionary measures to avoid this disorder.
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